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Dice (Day 1)

- 6 Surfaces are in a Dice.
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- Only 3 surfaces seen in a position.

- Three surfaces are neighbour.

- The opposite surfaces cannot be visible at the same time
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Dice(Day 1)

- There are two types of Dice in this topic.

\/
1. Closed Dice — @
]

2. Open Dice _ ﬂ IZJ/ J

1. Closed Dice
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- It can have one position , two position and more than two position .
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- The Question will be related to finding the opposite surface.




Dice(Day 1)

- When two positions of the Dice are given :-- C (— 6
- - o9 9 & @y e & 71F & -

Rule--1

-  When only one number is common in both the positions and that common number is
appearing on the same surface then the interchanged numbers are opposite to each -
other.
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Dice (Day 1)

Q. Two different position of a single Dice are given , then find the number which is opposite
to3?

T. 0HF QI & &Y AAN-HAT T Ru v § aY ag v&ar A@ v s 3 &
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Dice (Day 1)

Q. Two different position of a single Dice are given , then find the number which is opposite
to5?

T 0F U F A NAN-HAN YA RU AT E A T &I AT AT A 5 &F
faada &2
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Dice(Day 1)

Q. Two different position of a single Dice are given , then find the number which is opposite
to4?

T F IR F A NAN-HAN YA RU AT E AT T T AT AT AN 4 &F
faada &2
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Dice(Day 1)

Q. Two different position of a single Dice are given , then find the number which is opposite
tol?

9. UFH 9 & g HAN-HAT T R e §, Y ag ¥&qr Al v &Y -~ &
Radfia 2 2
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Dice (Day 1)

Q. Two different position of a single Dice are given , then find the number which is
oppositeto 3?

9. UF A & 2 HAI-HAT T fGr aiv §, Y a8 631 g fAfSv Y 3 &
Rada 72
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Dice(Day 1)

Q. Which of the following positions can be another position of this Dice ?
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Dice (Day 1)

- When only one number common in the both position and that common
number is appearing on the different surfaces. Then we can apply " nght hand
rule / CIockwuse rule
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Dice(Day 1)

Q. Two different position of a single Dice are given , then find the number which is opposite
to4?

T H A F S FAAN-FAT AT RU AT E A T &I A AT I 4 &
Rada &2
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Dice(Day 1)

Q. Two different position of a single Dice are given , then find the number which is
oppositeto 3 ?

9. UF 9 & g HAN-HAN T RU arv &, aY a8 §&A1 g fAfT ST 3 &
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Dice(Day 1)

Q. Which of the following positions can be another position of this Dice ?

. =faf@a & & Fia & Rufa s o fir gl Pufy @ g=dr 27
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Dice(Day 1)
Rule ---3

- If only two number is common in both positions and that common numbersis
appearing on the different surfaces. Then the remaining numbers will be opposite to

Each - other.
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Dice(Day 1)

Q. Two different position of a single Dice are given , then find the number which is
oppositeto 2 ?

T 0 I F S AAN-HANT YA RUITE ST T FEAT AT AT AT 2 &
fRada &2




Dice(Day 1)

Q. Two different position of a single Dice are given, then find the number which is
oppositeto 3?

T UHF YA F A HAN-FAN YT RU v § ST d&ar Ag AT A 3 &
Rada 72
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Dice(Day 1)

Q. Which of the following positions can be another position of this Dice ?
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